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Q.1 (18 Points) @”J 5 | ¥ PR 4

Match a load Z;=25+j25 Q to a transmission line of Zo=40€2 A = 40mm

(X is distance from load in mup and Ls is stub length in mm and Z, is
transformer characteristic impedance). Show your work on smith charts /
Inductive stub q.N ww” U Fp wm
S.C series stub X= s, 9| Ls= A& o,
0.C series stub X=A )l e [[s= J=rm—t & FR e

S.C parallel stub X=1l 3w/  [Ls= S22 4iQ
OCparallelstub | X= 1) , vhww 7/ [Ls= S a=vrmmm= |4 ,9 o
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Capacitive stub & C\ N\ S
S.C series stub X= et § /0yl Ts=" "\ et | NC2 Q1.
O.C series stub X= s L AAoLDs—\ O\ HeEe—~ |V, 284 PA"
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Q.2 (4 Points)

In free space at 5.5GHz the direction of propagation is in ar=(0.6ax
+eay) if the electric field is in the +z direction and the maximum
F. ¢cg  measured value of electric field is 4uV/m, Find c, E and H.

/E:J-_ [ E.E, C”(u_‘_ __Fa(_'_?% ! Ae X od = ¥

W‘K/my-:
E - 'J-cc»s(wé—-P(O-éX +6.WQ+°Q‘\ /QF};

QQXO\Y‘ = —~ol

a4 K(O-Cak—r(% =-ah

..:j 06 +-~KEX =-—ah

& > oW - 0-6\3 +CX
%\/ | o
wayein'd transmission line of
=4V . [(draw for 1.2 )

Q.3 (4 Points)
Draw the voltage and current Stan(i
Z11=50Q for a load of Z;=100-j
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Q.4 (4 Points)
Given the following standing wave, find x and the characteristic impedance for
the second media.

5V/m

/\/\./ vn
: E 1 V/m
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